
6.1 ( p 411 ) # 16
Confirm y=3sin2x is a

solution of yet ) - 16g = 0

If so
,
y( 4) = 16g

y
'
= 6 cos 2x 1613s 'sn2X)

y "= -12 sin 2x 48sn×
y
" '

= -246s 2x

y
#
= 48sin

a match !



6.1 ( p 411 ) # 20

Confirm y=5ln ✗ is a

solution of yet ) - 16g = 0

If so got = 16g 16 G- lnx )
y
'
= ¥ = 5×-1

80b€
y
"
= r = -55

-

y
" '

= 90×-3

y4l= -30×-4=-3×0+2 Not a match , so

not a solution



6.1 ( p 411 ) # 46

Integrate to find the solution to

¥=¥÷
y = f ,<¥e✗dx u=4+e×

du = ex dx

y
= ftudu

y = In 14 text + C


